BMOH N R E

aF 54 9H

A A EOE HRR A A S



T + B b

1. L4 L3 S S U ST N L S S

2. B#A HALE BhHLE

IGiASEIERE

il {5 HETIE

A B E B HE

K A B i £

3. THEHT ((=DIN=¢:1 S =E T

() W Aah

(B Ehkl SRHAD AT HET

() EURR SCHELS  ATHET

(B) e (e

(&) HHR e

(H) R EATEE  /NEpET

() R AL

(H) FKHEE AR —fEHT

() BRI AR —fEHT &
4. JE T ATHT, R ENOZEERHOBRIEZIT I D TH Y 2 b S RO UoE

T D—Y) D LHEEITIELDTHD

| SEETI

HAI1C, BTN, (IBRIC, N1 C, EREES AL Mg =F£1 C, #L

WIC, ZEREHREIC, HWEFEMIC

5. 8 ™ B A 5% 11H 298 ~ B A THE 28 200 (450 HfH)



T %= 4 A SRR NS L H THX5y
T %= & 3 HAL | HE 4 % oA N R

TFENRAG % = 1 140, 351, 920

(N ekt OB EEt E5)) ( 0)

HA T C =hldExifdos THEYE = 1 14,096,679 | HEdNER AR 1
L R gy G WA WAL - 1
IR EEIR T 1

EERTN hIEHRHSOE TR = 1 2,549,340 | HEmniEYr =B 1

BT C ZhRCERMOE THE = 1 7,083, 145 | BEEREEGES  PTNZAS TS
oSSR (AR ST O
IR EEIR T

NI C Bl e e fif ot T4y = 1 9,344,707 | HERCEE TN LR
HeoRaER  IRSFEIEE
IR AR T

PP S A SRR R i dos TF L |1 15,757,351 | Hifnckd®y =B

eadogt  EAEA

B ERUOE T ﬁW%E%%
Padon e UM
ey NS e
eamdos e BB R
IR T

mMEI=FI1C BrFE R (i i L2 eV 1 23,734,064 | paRckEEr  EAIERVE
WeaedoEE  ITNA L
MeaedoEE RO
HEIRLEE  Whiti

IR EER T

FOLR T C  hddEfhdos T8 = 1 31,184,952 | B&PRUOER EATEIE
HansoE R ITNZE R
Merdod sy ROV
HEoRER Whitik

IR AR T

P
m
3

HIC ZhElEsmdos L6 = 1 16,319,699 | H¥eRckdtr LS

= &Lﬁiwwwﬂg
= &Lﬁiwwwﬂﬂm
WeandoEE BT B

IR EEIR T
TALEN T C Bl e e fif s T4y = 1 20,281,983 | MésRdio&E sy ALV

HAYBHEBSEHEEHBNEEEHHYHEEEHE R SEESEE B EE




T F 4 B A BN EE S RER R OE T3 THEXS wRLE
T %= & 3 BT | & 4 %8 oo ER

WREEMN I C  ZRlERMolE L EE Werdodty B0 1 m

Werdodty BT EME 1 m

IR AR T 1 =X
B sy = 1 24, 398, 080
Il (R E) = 1 501, 000
HiGE By = 1 698, 000
— RS A 1 23, 199, 080

AN 164, 750, 000




